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(V�HO�VHJXQGR�SXHUWR�PiV�LPSRUWDQWH�GH�FUXFHURV�GH�0p[LFR�\�XQR�
GH� ORV� PHMRUHV� OXJDUHV� GHO� PXQGR� SDUD� EXFHDU� \D� TXH� DTXt� VH�
HQFXHQWUD�HO�DUUHFLIH

y $�XQD�KRUD�\�PHGLD�GH�OD�FLXGDG�GH�&KHWXPDO��

y $�XQD�KRUD�GH�ODV�UXLQDV�SUHKLVSiQLFDV�GH�&KDFFKREpQ��
y $�XQD�KRUD�GH�OD�/DJXQD�GH�%DFDODU�IDPRVD�SRU�VXV�VLHWH�FRORUHV��

0DKDKXDO� HV� XQ� SHTXHxR� \� SLQWRUHVFR� SXHEOR� TXH� HQWUH� VXV�
DFWLYLGDGHV�SULQFLSDOHV�VH�HQFXHQWUD�HO�WXULVPR��OD�SHVFD�\�HO�EXFHR�
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(Q� 0D\DFDWO� VDEHPRV� TXH�
GH� ORV� VXHxRV� KDQ� VDOLGR�
LGHDV � TXH� FDPELDQ� D O�
PXQGR�� SRU� HVR� FUHHPRV�
TXH� VRxDU� FRQ� HO� UXLGR� GHO�
PDU� GH� IRQGR� HV� GH� ODV�
PHMRUHV� H[SHULHQFLDV�� $TXt�
QDGLH�VH�TXHGD�IXHUD�\D�TXH�
W R G R V � Q X H V W U R V�
GHSDUWDPHQWRV� WLHQHQ� YLVWD�
IURQWDO�DO�PDU�
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HO�JLPQDVLR�\�XQ�iUHD�
SDUD� SRGHU� GLVIUXWDU�
G H � D F W L Y L G D G H V�
UHODMDQWHV� FRPR�\RJD�
\�PHGLWDFLyQ�

�������������������ï����������������������Ǥ�������������Ƥ�����������������������������������������������Ƥ��������������������������������������������������������������Ǥ

),71(66�&(17(5



y &RFLQD�7HND�FRQ�FXELHUWD�GH�
JUDQLWR

y 3LVR�GH�PiUPRO�7HSHML
y &DUSLQWHUtD�HQ�PDGHUDV�

WURSLFDOHV��7]DODP�X�RWUDV��
y 3LVRV�HQ�GXHOD�GH�PDGHUDV�

WURSLFDOHV
y �&DQFHOHUtD�HQ�DOXPLQLR�\�
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